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First Semester FYUGP I\fIathemati(.:s Examination
NOVEMBER 2024 (2024 Admission onwards)
KUIMDCMAT103 (MATRIX THEORY)
(DATE OF EXANM: 29-11-2021)

Maximum Marks : 50
Time : 90 min
Part A (Answer any 6 questions. Each carries 2 marks)

ing to the syvs ; ations
I. Write the matrix equation corresponding Lo the system of equati
Sx+ Gy —3z=13
20 —1z =10

Sy—b6z=25

2
ing Lo the sy [ e ions
9 Write the matrix cquation corresponding Lo the system ol eguat
3ry + a2 =3
2.’1’1 S ’LL'Q =-=13
Ly —“L3:= B)
2
i s svstem of lnear equalions
3. Write the angmented matrix of the svstem of lnear equations
124 —day + x5 =13
—r +Dae — by = —11
?.Tfl — Ty - 6.’1‘;5 =4l
2%
i F inear eguations
4. Write the angmented martrix ol the system of linear eguatic
Je—Ty+2:=T
Q_e+y—z2=-1
Tr—5y—2z=10
2
2 5
o e » marix |, 2
5. Find the row reduced echelon form of the watrix 3 4
0 |
1 0 : 5
6. Find the Null space of A = [0 1
00 1
1
e — e
8/
7. Define an Elementary matrix. Ts the given matrix elementary? Justify,
1 00
abiode
050 i
2
8. Give an example of a system of equations in 2 variables having no solution. 2
Part B (Answer any 4 questions. Each carries 6 marks)
9. Write the coeflicient matrix and constant matrix of the linear svstem
¥ — 822 + Sy + 61y = 13
—&1 + 8z — Tlwg + 924 = —|
6y — 2y + Suy — Tog=—=2
fi

L Write the coefficient, matrix, constant matrix and augmented matrix of the linear
svstein

T —xptazt =1
—T1 Tl — Ty g ==l

Ty~ T — iy Pyri= 1

&y — X2+ &g — £y = —1
§
11. Use Gaussian climination Lo solve the lollowing svstem of equations:
Ty + T | 204 =1
2y —day —uy =0
201 — 2o+ a3 =2
£
l 2.3
12. Find the Null space of A= [3 1 0 6
7 T B |
I -2
13. Find the inverse of the matrix | 5 2 3 ,if it exists. 6
15, 1 2
14. Solve the system of equations:
Ly — 2.1‘3 + 13 =1
2 4 3.?'2 +dxy =11,
3oy~ + 205 = 5.
5
Part C (Answer any 1 question(s). Each carries 14 marks)
2
e ——
R I
x Ge A= (2034 5
& ()i o rank of the matrix A 2
15. {a)Find the rank 3 A5G
: 9 IF y : ion.
(hTs the system consistent? [f so, find the so i
3r—2y+ 6z =12
3 —By+3z = 1.
c+y+-:=1
14
1020 =L b ;
3 8 0 10 by reducing to row echelon form.
) )

16. {(a)Find the rank ol A =

(h)Solve the system of equations:

2ry + 333 — ks =

@y — e ke

78

3.

3xy 22 + 2y = 10.
14



